M-3-18

(03 Hours)

NB. I) Attempt any Four Questions.
IT) Make suitable assumptions if required.

Que.l (a) Writeashortnoteon (i) Central Composite D
(ii) Design of experim

(b) The owner of a chain of four grocery stores _
strawberries. The following table gives t
it is allocated various number of boxes.:

Que.2

E{néa!@ gﬁl;t* téps procedure proposed by Taguchi for applying ~ (08)

forogt;mila ‘Any process.

g Empké&:ﬁethod the following problem. - (10)
Mipinize; Z=3Xi +5X:+2X
&bj’*ést to; - X +2X,+2X3<3
X;+2X,+ X322
2X; + X,5-2X354
X, X2, X3 >0
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Que.5

Que.6

®)

(a)

()

(2)

hdmﬂnnze,z ZXZ 7X5442X1Xé
Subject to; 2X; +5X, <98
X, X, 20

same units, and three alternatives. The re
determined to be: W; = 0.20, W, =
corresponding a;; values are:

25 20 15 30
A=110 30 20 30

30 5 30 5
Solve by using Analytic Hie

various consumers. Kbgéomp

product. The process
random variable and is dh‘
Processing tlmg ning).

ok ke ok ok eok
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